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Example from the literature
News about COVID-19
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A potential DAG when Baldness is exposure

Draw a causal diagram (DAG) based on “analyst’s best 
understanding of the literature”.
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A potential DAG when Baldness is exposure

5

Minimal sufficient adjustment sets for estimating the total effect 
of baldness on hospitalization due to COVID-19: Sex, age



A potential DAG when Age is exposure
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No adjustment is necessary to estimate the total effect of Sex on 
hospitalization due to COVID-19.



A potential DAG when Age is exposure
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The total effect cannot be estimated due to adjustment for an 
intermediate or a descendant of an intermediate.



A potential DAG when Age is exposure
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Minimal sufficient adjustment sets containing Sex for estimating 
the total effect of age on hospitalization due to COVID-19: Sex



A potential DAG when Age is exposure
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The total effect cannot be estimated due to adjustment for an 
intermediate or a descendant of an intermediate.



A potential DAG when Sex is exposure
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No adjustment is necessary to estimate the total effect of Sex on 
hospitalization due to COVID-19.



A potential DAG when Sex is exposure
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Minimal sufficient adjustment sets containing age for estimating 
the total effect of Sex on hospitalization due to COVID-19: age



A potential DAG when Sex is exposure
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The total effect cannot be estimated due to adjustment for an 
intermediate or a descendant of an intermediate.



A potential DAG when Sex is exposure
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Minimal sufficient adjustment sets containing age for estimating 
the total effect of Sex on hospitalization due to COVID-19: 
Comorbidity, age.



Table 2 fallacy Example (mutually adjustment)
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● Let’s assume 
baldness is the 
exposure variable. 

● Age and sex belong 
to minimal 
adjustment 
variables.

● Age, sex, 
comorbidity could 
be another 
adjustment set.

● There can be many 
adjustment sets.

“fallacy is the belief that all coefficients have a similar interpretation”
http://dagitty.net/learn/graphs/table2-fallacy.html

http://dagitty.net/learn/graphs/table2-fallacy.html


Avoiding Table 2 fallacies
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‘Table 2 problems can be avoided by 

● limiting the table to estimates of the primary exposure 
effect measures under the different models, with 

● the secondary “adjustment” covariates reported in a footnote 
● along with how they were categorized or modeled, 

as is common practice in space-limited presentations.’



Avoiding Table 2 fallacies: Decide exposure 1
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Be clear to yourself: why 
are you adjusting anything? 

Goal of adjustment: 
Removing backdoor paths



Avoiding Table 2 fallacies: Decide exposure 2
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Goal of adjustment: adjusting for 
risk factor of the outcome / 
increase precision.



Avoiding Table 2 fallacies: Decide exposure 3
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Goal of adjustment: 
adjusting for risk factor of 
the outcome / increase 
precision.



Thanks!
ehsan.karim@ubc.ca
www.ehsank.com
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